HENEREREES i
SH4F10H6H8 (K)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 23% RIS 272.2 423 51
<IN 3,553.1 55 20
AABHLA 100.0 1,073 300
JUH LA 555.8 1,292 22
LEFLA 228.7 514 20
TFELSI LA 333.2 1,200 389
=EAHLA 537.2 319 20
IALA 530.5 743 111
HSRALA 34.3 69 20
<55 112.5 369 23
FAALY 38.9 1,429 222
<5 22.6 1,089 401
IVAVTAFX 430.6 271 20
TVAVTAF A58 45.0 1,651 889
F7>0 818.1 759 80
HIHS 297.1 30 20
HZA) UL 38.1 1,204 879
FWRA) UL 63.2 1,515 569
FAF X 22.4 1,616 200
TLINTN 51.8 240 51
FHALY 38.6 4,880 450
ALY 22.5| 25999 | 10,050 |G 2V

I 8,146.4




6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =
S 23% HHEHA 36.0 300 24
A 75.1 600 80
AAHYT 131.0 1,066 66
sH= 76.7 3,810 200
A 463.5 | 19,300 2,359 [fn 10
TYRSERF 90.9 309 209
254 hF/ A 106.7 540 339
ZILAA S 106.1 856 289
ZILAA 1258 395.0 6,639 2,100 |52 7
UL 65.5 489 219
7 U R 35.0 3,572 3,009 |5 "
=241 167.8 1,050 389
vFEST 6,567.2 719 30
AFF<3 96.5 1,650 900

T2

16,559.4




€:E3::) (BT : kg )
peES ] migE 8 Z B fm &
BEERXFE 518 [ESX 2,100 20
RAAIH LA 1,300 600
_~ 300 20
N 1,000 189
=>0OX/)VUl 2,000 500
JdEHAN 150 20
HY= 1,650 100
BiE 7% IR S A 624 300

T2




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
ShEE 23
EEXRIFE 518 |E5 X 641.6 2,000 500
NSO 28.9 2,000 1,400
AEHE 192 NSO 917.2 3,000 2,000
#D 28 E=5X 331.5 2,500 800

D
[ =]

T2

1,919.2




